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23MSU311
PSG COLLEGE OF ARTS & SCIENCE
(AUTONOMOUS)

BBA DEGREE EXAMINATION DECEMBER 2023
(Third Semester)

Branch — BUSINESS ADMINISTRATION

LEGAL ASPECT OF BUSINESS & ETHICS
Time: Three Hours Maximum: 50 Marks

SECTION-A (5 Marks)

Answer ALL questions
ALL questions carry EQUAL marks (6x1=5)

Where is the date mentioned in a minute?
(i) Top left (ii) Top right
(iii) Bottom left (iv) Bottom right

Which one of the following is not a method by which a contract can be
discharged?
(i) Discharge by misrepresentation. (ii) Discharge by performance

(iii) Agreement (iv) (ii) and (iii)
Sale of goods Act
(i) 1945 (ii) 1947
(iii) 1952 (iv) 1930
Ethics Means
(i) Character (ii) Manner
(iii) Custom (iv) All of these
CRS stands for
(i) Corporation Social Responsibly (1) Corporate Social responsibility
(1ii) Corporate Social Resonance (iv) Cooperation Social responsibility
SECTION - B (15 Marks)
Answer ALL Questions
ALL Questions Carry EQUAL Marks (5x3=15)
Bring out the difference between share capital and debentures.
OR

Write a short notes on (i) Agenda  (ii) Minute

Explain the Legal rules for Consideration.
OR
Narrate the concept of Breach of contract.

How to transfer of property?
OR
Describe the rules of caveat emptor.

State the Principles of Ethics.
OR
Summarise the benefits of business Ethics.

Explain about ‘Marketing Ethics’.
OR
Identify the need for Indian Ethics.
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SECTION -C (30 Marks)
Answer ALL questions
ALL questions carry EQUAL Marks

Explain the duties and power of the Board of Director.
OR
Examine the classification of companies.

Classify the essential elements of contracts.
OR
Outline the difference between offer and acceptance.

State the benefits of Hire Purchase System.

OR
Enumerate the rights of unpaid seller.

Analyse the Kohlberg’s 6 stages of moral development.
OR
Discuss the various steps in ethical decision.

Examine the different types of CSR.
| OR
Justify the purpose and relevance on Indian Ethos.
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